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05 Grammar L3 Answers

Lesson Conversation (Kanji Edition)

Matt:

Yu:

Matt:

Yu:

Matt:

Yu:

Matt:

Yu:

Matt:

Yu:

BRIZ &E2  LETr,

Lz BUEY,

SHEKRIZT YT TTXFELED,

gLz BUYEL-,

ENSE=TTD,

WWZ, BB -ETY, EEZ  REVWTTD,
T, REVWTT,

22l o ETT,

MY —RIZ BUILED

Tv, 0 RIE Lt FETT,

Polite Past Tense

W) Q: Brrwild 2F58h-5=TThHh, (W)

Ototoi wa tsumaranakatta desu ka. (iie)
Wasn'’t the day before yesterday boring? (no)

A WWZ, DELELUNSZTT,
lie, tsumaranaku nakatta desu.
No, (it) was not boring.

Q: HALWwIE WETIIED»SETTD, (WW3Z)
Senshu wa yuki dewa nakatta desu ka. (iie)
Wasn’t there snow last week? (no)

A: WWZ, WETIE ZBh-7=TH,
lie, yuki dewa nakatta desu.
No, there was no snow.




D EXDIE WENLDSETT N, (W)

Kino wa isogashikatta desu ka. (iie)
Were (you) busy yesterday? (no)

W2, DFETLE / Wz, WEDN LN -=TT,

lie, hima deshita / lie, isogashiku nakatta desu.
No, (I) was free. / No, (I) wasn’t busy.

D BADIE YxIo%E LIl (WnZ)

Sengetsu wa ryoko o shimashita ka. (iie)
Did (you) go on a trip last month? (no)

cW0WWZ, YxrZo9% LEIHATLI =,

lie, ryoko o shimasen deshita.
No, (I) didn’t go on a trip.

XD, A% nALw) LILr=r. (BERE

Kino, nani o renshi shimashita ka. (Nihongo)
What did (you) practice yesterday? (Japanese)

BAEZ NALw) LIlr,
Nihongo o renshu shimashita.
(I) practiced Japanese.

cBALwIEDIT YZIT TXFELED. (315Y8)

Senshi-matsu wa doko ni ikimashita ka. (Kyoto)
Where did (you) go last weekend? (Kyoto)

Xrokic f13Flr,
Kyoto ni ikimashita.
(I) went to Kyoto.

WD ATIEAE BRRILED, (78

Itsu bangohan o tabemashita ka. (shichi-ji)
When did (you) eat dinner? (7:00)

D TERIC IFATIEAZ BNFL

Shichi-ji ni bangohan o tabemashita.
() ate dinner at 7.

(ZLL and ~7fzL»

W) Q: Xy b LILWTT D,

Petto ga hoshii desu ka.
Do (you) want pet(s) ?

SA3v, Ry bAY IILWTT,

Hai, petto ga hoshii desu.
Yes, (I) want a pet [pets].
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(1] Q YRR FIELOTE
Donna petto ga hoshii desu ka.
What kind of pet do (you) want?

A WA IZLWT T,
Inu ga hoshii desu.
(D) want a dog(s).*

(2] Q AL A8 1BLOWTTA,
Tanjobi ni nani ga hoshii desu ka.
What do (you) want for (your) birthday?

A: bV AH—bA IFLWTH,
Kawaii sukato ga hoshii desu.
(I) want a cute skirt.*

(3] Q ZALwIEolx A% LEWTT,
Konshi-matsu wa nani o shitai desu ka.
What do (you) want to do this weekend?

Ar ZWA%  B7=0TH,
Eiga o mitai desu.
(I) want to watch a movie.*

Q ZALwIEOIX A% LAK(ROWTT,
Konshi-matsu wa nani o shitaku nai desu ka.
What do (you) not want to do this weekend?

A: LTZE  L7ES(RWTY,
Shigoto o shitaku nai desu.
(I) don’t want to work.*

(5] Q 2pRAD FALIITIX f85 1ZL2 =TT
Kyonen no tanjobi wa nani ga hoshikatta desu ka.
What did (you) want for last year’s birthday?

A: 3D IHIDEDN EILI1-okETT,
Fuyu no uwagi ga hoshikatta desu.
(I) wanted a winter jacket.*

(6] Q HAL®WIZOEE BBINIZ FXEASETTN?
Senshi-matsu wa Osaka ni ikitakatta desu ka.
Did (you) want to go to Osaka last weekend?

A 3V, TS50 5T, / W, [T57K [ Bh57=T3, / HYUFHATLE]

Hai, ikitakatta desu. / lie, ikitaku [nakatta desu. / Arimasen deshita.]
Yes, (I) wanted to. / No, (I) didn’t want to.

*Many answers are possible. This is just one example.
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ZZHE

) A F(zh) 1, WWERTT, |
“(Kore) wa, ii hon desu.”
“This is a good book.”

B: TITA¥HITE 0,
“Honto desu ka.”
“Really?”

[(zh) 13 o »XTYD.
“(Kore) wa dare no kagi desu ka."
“Whose keys are these?”

B: T(Zh) 13 ®WFIALD »ETT,]

“ (Sore) wa Tanaka-san no kagi desu.”
“Those are Mr. Tanaka’s keys.”

(=0 »NITAIT
“Anata no kaban wa (donna) kaban desu ka.”
“What kind of bag is (your) bag?”

B: TLAW 2IFTATY,

“Shiroi kaban desu.”
“A white bag.”

FhALIE (¥2) 12 HYFTTH.
“Toire wa (doko) ni arimasu ka.”
“Where is the toilet/restroom?”

B: I— ( Z % rﬁ) "G‘j_o J
“(Kochira) desu.”
“This way.”

(YAR) METATT D,

Grammar L3 Answers

Although ‘toilet’ sounds a little uncouth to native speakers, this is actually the most common way to

refer to the restroom or bathroom in Japanese.

4] A T(Hh) T RIZXAD WZTTH, ]
“(Are) wa Sumisu-san no ie desu ka.”
“Is that Mr. Smith’s house?”

B: T\wnz, RIZAXAD Wzlt (H%2) |
“lie, Sumisu-san no ie wa (asoko) ni arimasu.”
“No, Mr. Smith’s house is over there.”

-
-

HYET]
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(5] A T(ZD) (2lx W(LTTH, ]
“(Kono) kutsu wa ikura desu ka.”
“How much are these shoes?”

B: 115,600 M T,

“Ichi-man go-sen roppyaku-en desu.”
“15,600 yen.”

Txm, ITEFEL 7=, |
“Kino, kobe ni ikimashita.”
“Yesterday, (I) went to Kobe.”

ZIoINIZ

B: T(Z2) 12 WwWWLAMIUIE HUYFTH. ]
“(Soko) ni ii resutoran wa arimasu ka.”
“Are there (any) good restaurants there?”

JLPT-Style Questions

1] A TEWLEIRTTA, Wiez (LUELEM.]
“Daijobu desu ka. Isha o (yobimashita ka).”
“Are (you) okay? Did (you) call a doctor?”

B: NIwv, wivld kRF¥L.]
“Hai, isha wa kimasu yo.”
“Yes, a doctor is coming.”

T LATH 2 JUELED
yonde ka yobimashita ka

The correct answer is #2- XU LzH .

Looking at all the answers, 1 and 4 are grammatically incorrect, so you can rule those out. That leaves

4 LIFLVD
yobihoshii ka

3 LAFELED

yomimashita ka

us with answer 2 “called”, or 3 “read”. You can’t really read a doctor, so that leaves us with answer 2.

Other Answers

LATH - LAT is the te-form of L3 (yobu, to call). But we can’t use the te-form with the »
particle.

LA FE L= - This is the polite past form of L% (yomu, to read). You can’t really read a doctor.

LIZL WA — 1Z LW is usually used with objects we want, not with actions we want to do.

(2] A T&X3BIRYITLED.]
“Kin'yobi wa do deshita ka.”
“How was Friday?”

B: (BHELANSETTY),
“(Omoshirokatta desu).”
“(It) was fun.”
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1 BELAWTLE 2 BHELANWTT
omoshiroi deshita omoshiroi desu

3BELANSETT 4 BELALLTWTT
omoshirokatta desu omoshiroku nai desu

The correct answer is #3-8EH LA HT=TT .

Speaker A is asking about a past event that happened on Friday. The answer to such a question will
usually match the tense. Answer 3 is in the past tense and is properly conjugated, so that has to be
the right one.

Other Answers

BELAWTL /= - If we want to talk about something in the past that was fun, we will usually say
BHL AN >7=T7T. Conjugate the adjective and not TT .

HEHLAWTT - This is the correct form, but the form (non-past) doesn’t match Speaker A’s question
(which is in the past form).

BHLACLNWTT - This is also the correct form, but again the form doesn’t match Speaker A’s
question.

(3] A TaAFOIE HZUFLED
“Senshi-matsu wa asobimashita ka.”
“Did (you) have fun last weekend?”

B: T\Wwihz, (HZUFHATLE), ]

“lie, (asobimasen deshita).”
“No, (I) didn’t have fun.”

1 $ZUFL= 2 HZUFRATLE
asobimashita asobimasen deshita

3 HZFUFERA 4 HZzUFET
asobimasen asobimasu

The correct answer is #2-HZUFEFHBATL:.

Speaker A’s question is about the past, and Speaker B starts the sentence with \\\\Z (iie, no). The
answer then has to be a negative past form.

Other Answers

HZUF L /= - This is the polite past affirmative form, but it doesn’t match the first part of Speaker B’s
answer.

HZUFHA - This is the polite non-past negative form but we need the past tense form to match the
question.

$»ZU'E ¥ - This is the polite non-past affirmative but we need the past negative form.
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(4] woiE R=Fqa—iz (ITEELED),
Yube wa patii ni (ikimashita ka).
Did (you) go to the party last night?
14730 2 fT3E9H 3ATESEZRAD 4 T>THhEI D
ikimashita ka ikimasu ka ikimasen ka itte imasu ka

The correct answer is #1- 7= X Lizh .

In questions like these you will have to look out for the time expressions they use, like ¥
~N . These time expressions will help you decide what tense the sentence should be in. In this
case, it should be in the past tense, and there is only one answer in the past tense — 17X F L 7=7".

Other Answers

TX£ ¥ - This is in the polite non-past, which is not what we are looking for.
iTXFH AN - This is in the polite negative non-past, which is not what we are looking for.

iT>TCWE T ) - This is in the present progressive form (e.g. I am going to the party.) We are going
to learn about this form a little later in lesson 6.

(5] A T%AIR WXL SETTH, )
“Sengetsu wa isogashikatta desu ka?”
“Were (you) busy last month?”

B: T\Wwinwz, (OFTLA). ]
“lie, (hima deshita).”
“No, ([I] was free.) ”

1 OFEDN-7=TT 2 OFTLE
hima katta desu hima deshita

3 O0FTYT 4 OFTIE HUFET
hima desu hima dewa arimasu.

The correct answer is #2- 0 L. .

Speaker A is asking a question about the past, so Speaker B’s answer needs to also be in the past

tense. % is a Z& -adjective, so we have to conjugate it differently than an U\ -adjective. To talk
about the affirmative past, we just add TL /= .

Other Answers

UFN 57T - You only use the »*—>7= ending with \\ -adjectives. Since U is a 72 -adjective,
this is the incorrect ending.

U'F T - This is the proper form for the non-past, but we are looking for an answer using the past
tense.

OETIE HUET - Tld is used to negate 7 -adjectives - UL TII HXHA . However, it
cannot be used with the affirmative form - &) £ .
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6] bHrLIX ¥y (AMILW) T,
Watashi wa kodomo (ga hoshii) desu.
I want a kid(s).
1 2T L 2 BNTE=0 3 ZiZLw 4 HBHi)=uv
ga hoshii ga dekitai o hoshii ga aritai

The correct answer is #1-HIX L LY.

X L\ usually needs the 7' particle to mark what is wanted. And answers 2 and 4 cannot be used in
this situation.

Other Answers

AYT X724\ - You cannot say ‘I want to be able to’ in this way.
#1ZLW — 1ZL W cannot be used with the % particle.

NHY 7=\ — H1U 7= means ‘1 want to be’, but we can’t use it this way to talk about having kids.

br=LIE auxRryze (BWEWTd),
Watashi wa shiroi zubon o (kaitai desu).
I want to buy white pants.

T BEWFFIILWTT 2 BEYIILWTTY
kaimasu hoshii desu kau hoshii desu

3 BW/EWTT 4 BHOMNMILWTT
kaitai desu kau ga hoshii desu

The correct answer is #3- B zWNTT .

Since we can’t use [I L\ with actions, answer 3 is the best.

Other Answers

XL\ is used to talk about nouns we want. Its proper form is noun + 7% + LY.

A: [R—=FT4—=T IH=0WFLE.]
“Patii de utaimashita ka. ”
“Did (you) sing at the party?”

B: TWw\WZ, TH (D=0 o/=T9), ]
“lie, demo (utaitakatta desu).”
“No, but (I) wanted to.”

1 9=\ s/=TF 2 Ir-wWFL/A
utaitakatta desu utaimashita

3 90K 5=TT 4 H ==L WT T
utaitaku nakatta desu utaitaku nai desu
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The correct answer is #1- S fcW eh > =TT .

Speaker B uses T% (demo, but), which marks a contrast. Since the sentence starts with M\ % (iie,
no), we can’t end it with a negative like answers 3 and 4 because of T% . Answer 2 means you sang,
which doesn’t make any sense because Speaker B already said that he didn’t. That just leaves answer 1.

Other Answers

7=\ F L 7= - Putting this in Speaker B’s response sounds quite funny:
WWZ, TH I wELE,

lie, demo utaimashita.
No, but (1) sang.

9 7=\ /={ LT — This is the negative form of ~7=\\ :

37=9 — HI0WFET - F9 = H7=\ (masu stem of H7/=) )
utau utaimasu masu  utai

DTz + 20 = H 72020 (want to sing)
utai tai utaitai

DN — W+ (D = 0= (don't want to sing)
utaitai i kunai  utaitaku nai

)=\ /={ L >7=T7 - This is the past negative form of ~7=\»
I = W+ DTz = 20K 5 7= (didn’t want to sing)

utakunai i katta utaitaku nakatta

These last two answers don’t work in Speaker B’s response because the speaker said T# (demo, but).
We need something that contrasts with \ )% (iie, no). We need an affirmative, not a negative.

(9] #HLuwLIx (#) 1ELWTT,
Atarashii shigoto (ga) hoshii desu.
(I) want a new job.

1 13 2 3D 4 %
wa ga no o

The correct answer is #2- 7" .

When using XL\ we need the /' particle to mark what is wanted. Other particles are not
commonly used.
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Hr=Lid 1(E (BRRELBWTY),
Watashi wa niku o (tabetaku nai desu).
I don’t want to eat meat.

1T BXRELLBRWTT 2 BRYELLWTT
tabetaku nai desu taberitaku nai desu

3 BENEWTIE HYFHA 4 BXR/E=WTL =
Tabetai dewa arimasen tabetai deshita

The correct answer is #1- BN EWTT .

RN/={LWTT is the negative form of & “X7=\\ (want to eat). The other answers are not in the
correct forms.

BN =W TT - &% is a group 2 verb, so the masu stem is &N, not &-\1) .

BRE=VWTIE HYFEA - since BX7=0 acts like an ) -adjective, we cannot use this form, which
is usually used for 7 -adjectives.

B X/=\WT L7 - You can use TL 7= for % -adjectives but not for \\ -adjectives like &X7=\\.
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